
●

●
●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●●

●

●

●

● ●●

●

●

●

● ●

●

●

●

●
● ●
●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●●

●

●

●

●

●
●

●

●

●
●

●

●

●
●

●

●

●
●

●

●

●

●
●●

●

●

●
●

●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●
●

●

●

●

●●
●

●

●
●

●

●

●

●

●

●

●

●

●

● ●

R = −0.012 , p = 0.88

0.10

0.11

0.12

0.13

0 1 2 3 4
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)
ANLN

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

● ●

●

●

●
●

●

●

●

● ●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●
●

●
●

●
●

● ●

●

●
●

●
●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

R = 0.19 , p = 0.013

0.15

0.20

0.25

2 4 6
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)

SCAMP5

●

●

●

● ●

●

●

●

●
●

●

●

●

●

●

●

●
●

●
●
●

●

●
●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

● ●
●

●

●

●

●●

●

●

●

●
●

●

● ●

●

●

●

●

●●
●

●

●

●●

●

● ●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●
●

●
●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●●

●

R = −0.58 , p < 2.2e−16

0.4

0.6

0.8

0 2 4 6
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)

FAM83A

●

●

●

●

●

●

●

●

●●

●

●●
●

●

●

●

●

●

● ●
●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●
●

●

●

●

● ●
●

●

●
● ●

●
●

●

●

●
●

●

●

●

●

●
●

● ●
●●
●

●

● ●
●● ●

●● ●

●

●
●

●
●

●
●

●

●
●

●

●

●

●

●

●

●
●

●●
●

●

●

●
●●

● ●●

●

●

●
●

●

●

● ● ●
●●

●

●
●●

●

●
●

●

●

●

●

●

●
●

●

●
●

●

●

●
● ●

●
● ●

●
●

●

●

●

●

●

●
●

● ●●

●

R = −0.46 , p = 1.9e−10

0.25

0.30

0.35

0.40

0.45

2.5 5.0 7.5
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)

ATP2A3

●

●
●

●

●

●

●
●●

● ●

●
●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●
●

●●
●

●

●

● ●
●

●

●●

●

●

●

●

● ●

●

● ●

●●

●
●

●

●
●

●
●

●

●
●

●
●

●

●

●

●
●

●

●

●

●

● ●●

●●
●

●●
●

● ●

●

●
●

●
●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

● ●

●

●
●

●
● ●

●
●

●

● ●
●

●

●
●

●

● ●

●

●

●●

●
● ●●

●

●

●

●●●

●

●

●

●●

●

●
●

●●
●

●●
●

●

●

●
●

●

● ●
●

●

●

●●
●

●
●

R = −0.5 , p = 2.2e−12

0.04

0.08

0.12

0.16

0 1 2 3 4
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)

CEP55

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●
● ● ●

●
●

●

●
●●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●

●●

●

●

●

●●

●
●

●

●

●● ●

●

●●

● ●

●

●

●

●

●

●

●
●

●

● ●

●

●
● ●●

●

●

●●

●

●

●

●

●

●
●

●

●
●●●

●

●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

● ●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●●

●

●
●

●●
●

●

●

●

●

●

●

●

●●

● ●
●

●

●
●

●●

●

R = −0.29 , p = 8.5e−05

0.5

0.6

0.7

0.8

0.9

0 1 2 3 4
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)
GJB4

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●● ●

● ●

●

●

●

●

●

●

●

●
●

●

●

●

●

● ●

●

●

●

●
●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●

● ●

●

●
●

●

●

●

●

●

●

●
●

●

●
●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●

●●

●●
●

R = −0.62 , p < 2.2e−16

0.5

0.6

0.7

0.8

0.9

0 2 4 6 8
Expression (log2(TPM+1))

M
et

hy
la

tio
n 

(..
 v

al
ue

s)

COL17A1


